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1. Two identical metallic spheres A and B when placed at certain distance in air repel each other with a force of F.

Another identical uncharged sphere C is first placed in contact with A and then in contact with B and finally

placed at midpoint between spheres A and B. The force experienced by sphere C will be :

nks ,dleku /kkfRod xksys A vkSj B tc gok esa ,d fuf'pr nwjh ij j[ks tkrs gS rks ,d&nwljs dks F cy ls izfrdf"kZr

djrs gSaA ,d vkSj le:i vukosf'kr xksyk C igys A ds lEidZ esa] fQj B ds lEidZ esa vkSj var esa  A vkSj B ds e/; fcanq

ij j[kk tkrk gSA xksyk C }kjk vuqHko fd;k cy gksxk :

(1) 3F/2

(2) 3F/4

(3) F

(4) 2F

Question ID : 1269431

Ans. Official Answer NTA (2)

Sol.

2. Match List I with List II :

A. Torque

B. Stress

C. Latent Hear

D. Power

I. Nms

II. J kg

III. Nm

IV. Nm

–1

–1

–2

List - IIList - I

Choose the correct answer from the options given below :

lwph – I dk lwph & II ls feyku dhft,

A. cyk?kw.kZ

B. izfrcy

C. xqIr Å’ek

D. “kfä

I. Nms

II. J kg

III. Nm

IV. Nm

–1

–1

–2

lwph - IIlwph - I

uhps fn, fodYiksaa ls lgh mÙkj pqusa :

(1) A-III, B-II, C-I, D-IV

(2) A-III, B-IV, C-II, D-I

(3) A-IV, B-I, C-III, D-II

(4) A-II, B-III, C-I, D-IV
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Question ID : 1269432

Ans. Official Answer NTA (2)

Sol.

3. Two identical thin metal plates has charge q
1
 and q

2
 respectively such that q

1
 > q

2
. The plates were brought

close to each other to form a parallel plate capacitor of capacitance C. The potential difference between them

is :

nks ,dleku /kkrq dh iryh IysVksa ij Øe'k% q
1
 vkSj q

2
 vkos'k bl izdkj gS fd q

1
 > q

2 
A C /kkfjrk dk ,d lekukUrj

ifêdk la/kkfj=k cukus ds fy, nksuks IysVsa ,d&nwljs ds ikl yk;h tkrh gSa] rks nksuksa ds chp foHkokUrj gS :

(1) 
 1 2q q

C



(2) 
 1 2q q

C



(3) 
 1 2q q

2C



(4) 
 1 22 q q

C



Question ID : 1269433

Ans. Official Answer NTA (3)

Sol.

4. Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Alloys such as constantan and manganin are used in making standard resistance coils.

Reason R : Constantan and manganin have very small value of temperature coefficient of resistance.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

uhps nks dFku fn, x, gSa] buesa ls ,d vfHkdFku A }kjk fu:fir gS] ,os nwljjk dkj.k R }kjk fu:fir gSA

vfHkdFku A : dkWulVSUVu ,oa eSaxfuu tSlh /kkrq,as ekud izfrjks/k dqaMyh cukus esa iz;qDr gksrh gSA

dkj.k R : dkWulVSUVu ,oa eSaxfuu ds izfrjks/k rki xq.kkad dk eku cgqy de gksrk gSA

mijksDr dFkuksa ds vk/kkj ij] uhps fn, x, fodYiksa esa ls lgh mÙkj pqusaA
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(1) A ,oa R nksuksa lR; gS] ,oa R, A dh lgh O;k[;k gSA

(2) A ,oa R nksuksa lR; gS] fdUrq R, A dh lgh O;k[;k ugha gSA

(3) A lR; gS] fdUrq R vlR; gSA

(4) A vlR; gS] fdUrq R lR; gSA

Question ID : 1269434

Ans. Official Answer NTA (1)

Sol.

5. A 1 m long wire is broken into two unequal parts X and Y. The X part of the wire is streched into another wire

W. Length of W is twice the length of X and the resistance of W is twice that of Y. Find the ratio of length of X

and Y :

fdlh 1 ehVj yEcs rkj dks nks vleku Hkkxksa X vkSj Y esa rksMk x;k gSA rkj ds X Hkkx dks c<+kdj ,d vkSj rkj W cuk;k

x;kA W dh yEckbZ X dh yEckbZ ls nksxqu ,oa W dk izfrjks/k Y ds izfrjks/k ls nksxquk gSA X vkSj Y dh yEckbZ;ksa dk

vuqikr Kkr djksA

(1) 1 : 4

(2) 1 : 2

(3) 4 : 1

(4) 2 : 1

Question ID : 1269435

Ans. Official Answer NTA (2)

Sol.

6. A wire X of length 52cm carrying a current of 2 A is placed parallel to a long wire Y of length 5 m. The wire Y

carries a current of 3 A. The distance between two wire is 5 cm and currents flow in the same direction. The

force acting on the wire Y is :

X

Y

2A 3A

5 cm

(1) 1.2 × 10–5 N directed towards wire X

(2) 1.2 × 10–4 N directed away from wire X

(3) 1.2 × 10–4 N directed towards wire X

(4) 2.4 × 10–5 N directed towards wire X
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,d 50 cm yEckbZ dk rkj X tlesa 2 A dh /kkjk  izokfgr gks jgh gS] dks 5 m yEcs rkj Y ds lekukUrj j[kk x;k gSA rkj

Y esa 3 A dh /kkjk izokfgr gks jgh gSA nksuksa rkjksa ds chp dh nwjh 5cm gS ,oa nksuksa esa ,dleku fn'kk esa /kkjk izokfgr gks jgh

gSA rkj Y ij yxus okyk cy gS :

X

Y

2A 3A

5 cm

(1) 1.2 × 10–5 N rkj X dh rjQ

(2) 1.2 × 10–4 N rkj X ls nwj dh vksj

(3) 1.2 × 10–4 N rkj X dh rjQ

(4) 2.4 × 10–5 N rkj X dh rjQ

Question ID : 1269436

Ans. Official Answer NTA (1)

Sol.

7. A juggler throws balls vertically upwards with same initial velocity in air. When the first ball reaches its highest

position, he throws the next ball. Assuming the juggler throws n balls per second, the maximum height the balls

can reach is :

,d txyj (xsan mNkydj [ksy fn[kkus okyk) xsanksa dks gok esa ,d leku osx ls Å/okZ/kjr% Åij dh vkSj QSadrk gSA tc

igyh xsan viuh vf/kdre Å¡pkbZ ij igq¡prh gS] rc og vxyh xsan QSadrk gSA ekuk] txyj n xsans izfr lSdsaM QSadrk gSA

xsanksa }kjk izkIr dh tk ldus okyh vf/kdre Å¡pkbZ gS :

(1) 
g

2n

(2) 
g

n

(3) 2gn

(4) 2

g

2n

Question ID : 1269437

Ans. Official Answer NTA (4)

Sol.

8. A circuit elements X when connected to an a.c. supply of peak voltage 100 V gives a peak current of 5 A which

is in phase with the voltage. A second elements Y when connected to the same a.c. supply also gives the same

value of peak current which lags behind the voltage by 
2


. If X and Y are connected in series so that same

supply, what will be the rms value of the current in ampere?
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tc fdlh 'kq) izfrjks/kd ifjiFk & vi;o –X dks 100 V f'k[kj eku okys izR;korhZ /kkjk (a.c.) L=kksr ls tksM+k tkrk gS]

rks o 5 A f'k[kj eku okyh /kkjk nsrk gS] tks fd oksYVst ds lkFk leku dyk esa gkssrh gSA tc dksbZ nwljk ifjiFk & vo;o

& Y leku a.c. L=kksr ls tksM+k tkrk gS] rks og Hkh leku f'k[kj eku okyh /kkjk nsrk gS] tks fd oksYVst ls 
2


 Ikp'xkeh

gksrh gSA ;fn X ,oa Y Js.kh Øe esa leku L=kksr ls tksMs tkrs gSa] rks /kkjk dk rms (oxZ ek/; ewy) eku ,sfEi;j esa D;k gksxk ?

(1) 
10

2

(2) 
5

2

(3) 5 2

(4) 
5

2

Question ID : 1269438

Ans. Official Answer NTA (4)

Sol.

9. An unpolarised light beam of intensity 2I
0
 is passed through a polaroid P and then through another polaroid Q

which is oriented in such a way that its passing axis makes an angle of 30° relative to the of P. The intensity of

the emergent light is :

,d 2I
0
 rhozrk dk v/kzqfor izdk'k fdj.k iqat ,d iksysjkWbM P ls xqtjrk gS fQj nwljs iksysjkWbM Q ls xqtjrk gS] tks fd dqN

bl rjg O;ofLFkr gS fd Q dk ikfjr v{k] P ds ikfjr v{k ls 30° dk dks.k cuk jgk gSA fuxZr izdk'k dh rhozrk gS %

(1) 
0I

4

(2) 
0I

2

(3) 
03I

4

(4) 
03I

2

Question ID : 1269439

Ans. Official Answer NTA (3)

Sol.
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10. An  particle and a proton are accelerated from rest through the same potential difference. The ratio of linear

momenta acquired by above two particals will be :

,d  – d.k ,oa ,d izksVªkWu] leku foHkokUrj ds }kjk foJkekoLFkk ls Rofjr fd, tkrs gSaA bu nksuksa d.kksa ds }kjk izkIr

fd, x, js[kh; laosxksa dk vuqikr gS :

(1) 2 :1

(2) 2 2 :1

(3) 4 2 :1

(4) 8 : 1

Question ID : 1269440

Ans. Official Answer NTA (2)

Sol.

11. Read the following statements :

(A) Volume of the nucleus is directly proportional to the mass number

(B) Volume of the nucleus is independent of mass number

(C) Density of the nucleus is directly proportional to the mass number

(D) Density of the nucleus is directly proportional to the cube root of the mass number

(E) Density of the nucleus is independent of the mass number

Choose the correct option from the following options :

(1) (A) and (D) only

(2) (A) and (E) only

(3) (B) and (E) only

(4) (A) and (C) only

fuEufyf[kr dFku i<+sa %

(A) ukfHkd dk vk;ru] nzO;eku la[;k ds lh/ks vuqØekuqikrh gksrk gSA

(B) ukfHkd dk vk;ru] nzO;eku la[;k ij fuHkZj ugha djrkA

(C) ukfHkd dk ?kuRo] nzO;eku la[;k ds lh/ks vuqØekuqikrh gksrk gSA

(D) ukfHkd dk ?kuRo] nzO;eku la[;k ds ?kuewy ds lh/ks vuqØekuqikrh gksrk gSA

(E) ukfHkd dk ?kuRo] nzO;eku la[;k ij fuHkZj ugha djrkA

fuEufyf[kr esa ls lgh fodYi pqusa
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(1) dsoy (A) vkSj (D)

(2) dsoy (A) vkSj (E)

(3) dsoy (B) vkSj (E)

(4) dsoy (A) vkSj (C)

Question ID : 1269441

Ans. Official Answer NTA (2)

Sol.

12. An object of mass 1 kg is taken to a height from the surface of earth which is equal to three times the radius of

earth. The gain in potential energy of the object will be :

[If, g = 10 ms–2 and radius of earth = 6400 km]

1 kg dh oLrq dks i`Foh ds /kjkry ls i`Foh dh f=kT;k d rhu xquk Å¡pkbZ rd mBkus esa mldh fLFkfrt ÅtkZ esa gqbZ o`f)

gksxh

[;fn g = 10 ms–2 ,oa i`Foh dh f=kT;k = 6400 km]

(1) 48 MJ

(2) 24 MJ

(3) 36 MJ

(4) 12 MJ

Question ID : 1269442

Ans. Official Answer NTA (1)

Sol.

13. A ball is released from a height h. If t
1
 and t

2
 be the time required to complete first half and second half of the

distance respectively. Then, choose the correct relation between t
1
 and t

2
 :

,d xsan h Å¡pkbZ ls NksMh tkrh gSA ;fn igyh vk/kh vkSj vafre vk/kh nwjh dsk r; djus esa Øe'k% t
1
 ,oa t

2
 le; yxrk

gSA rks t
1
 o t

2
 ds chp lgh lEca/k pqusa

(1)  1 2t 2 t

(2)  1 2t 2 1 t 

(3)  2 1t 2 1 t 

(4)  2 1t 2 1 t 

Question ID : 126943
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Ans. Official Answer NTA (4)

Sol.

14. Two bodies of masses m
1
 = 5 kg and m

2
 = 3 kg are connected by a light string going over a smooth light pulley

on a smooth inclined plane as shown in the figure. The system is at rest. The force exerted by the inclined plane

on the body of mass m
1
 will be : [Take g = 10 ms–1]

fn[kk, x;s fp=k vuqlkj m
1
 = 5 kg ,oa m

2
 = 3 kg nzO;ekuksa ds nks xqVds ,d gYdh jLlh ls ca/ksa gSa] ;g jLlh ,d fpdus

vkur&ry ds Åijh fljs ij j[kh fpduh ,oa gYdh f?kjuh ds Åij ls xqtj jgh gSA fudk; fLFkj voLFkk esa gSA vkur

ry }kjk m
1
 nzO;eku ds xqVds ij yxk;k x;k cy gksxk % [ekuk g = 10 ms–1]

m1

m2


(1) 30 N

(2) 40 N

(3) 50 N

(4) 60 N

Question ID : 1269444

Ans. Official Answer NTA (2)

Sol.

15. If momentum of a body is increased by 20% , then its kinetic energy increases by :

;fn fdlh fi.M dk laosx 20% c<+k;k tkrk gS] rkss bldh xfrt ÅtkZ esa gqbZ o`f) gksxh

(1) 36%

(2) 40%

(3) 44%

(4) 48%

Question ID : 1269445

Ans. Official Answer NTA (3)

Sol.

16. The torque of a force ˆ ˆ ˆ5i 3j 7k   about the origin is , If the force acts on a particle whose position vector

ˆ ˆ ˆ2i 2 j k  , then the value of  will be :

cy ˆ ˆ ˆ5i 3j 7k   dk ewyfcUnw ds lkis{k cy vk?kw.kZ gSA ;fn cy fdlh d.k ij yxrk gS ftldk fLFkfr lfn'k

ˆ ˆ ˆ2i 2 j k  gS] rks  dk eku gksxk

(1) ˆ ˆ ˆ11i 19j 4k 

(2) ˆ ˆ ˆ11i 9 j 16k  
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(3) ˆ ˆ ˆ17i 19 j 4k  

(4) ˆ ˆ ˆ17i 9 j 16k  

Question ID : 1269446

Ans. Official Answer NTA (3)

Sol.

17. A thermodynamic system is taken from an original state D to an intermediate state E by the linear process

shown in the figure. Its volume is then reduced to the original volume from E to F an isobaric process. The total

work done by the gas from D to E to F will be :

,d Å"ekxfrdh fudk; dks mldh okLrfod voLFkk D ls ek/;fed voLFkk E rd fp=k esa n'kkZ;s vuqlkj js[kh; izØe

ls ys tk;k tkrk gSA fQj bldk vk;ru blds okLrfod vk;ru esaa E ls F rd lenkch; izØe ds nkSjku ?kVk;k tkrk

gSA xSl }kjk D ls E ls F rd fd;k x;k dqy dk;Z gkssxk %

P
re

ss
u
re

 -
 P

(N
/m

) 2


Volume V.(m )3

600

300

0 5.02.0

D

F
E

(1) –450 J

(2) 450 J

(3) 900 J

(4) 1350 J

Question ID : 1269447

Ans. Official Answer NTA (2)

Sol.

18. The vertical component of the earth’s magnetic field is 6 × 10–5 T at any place where the angle of dip is 37°.

The earth’s resultant magnetic field at that place will be : (Given tan 37° = 
3

4
)

fdlh LFkku tgk¡ ueu dks.k 37° gS] ij i`Foh ds pqEcdh; {ks=k dk Å/okZ/kj ?kVd 6 × 10–5 T gSA ml LFkku ij i`Foh ds

ifj.kkeh pqEcdh; {ks=k dk eku gksxk (fn;k gS tan 37° = 
3

4
)

(1) 8 × 10–5 T

(2) 6 × 10–5 T

(3) 5 × 10–4 T

(4) 1 × 10–4 T
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Question ID : 1269448

Ans. Official Answer NTA (4)

Sol.

19. The root mean square of smoke particles of mass 5 × 10–17 kg in their Brownian motion in air at NTP is

approximately : [Given k = 1.38 × 10–23 JK–1]

lkekU; rki ,oa nkc ij 5 × 10–17 kg nzO;eku ds /kq¡, ds d.k d czkmuh xfr esa oxZ ek/; ewy (rms) pky yxHkx gS

[fn;k gS k = 1.38 × 10–23 JK–1]

(1) 60 mm s–1

(2) 12 mm s–1

(3) 15 mm s–1

(4) 36 mm s–1

Question ID : 1269449

Ans. Official Answer NTA (3)

Sol.

20. Light enters from air into a given medium at an angle of 45° with interface of the air-medium surface. After

refraction, the light ray is deviated through an angle of 15° from its original direction. The refractive index of the

medium is :

,d izdk'k] gok ls fdlh fn, gq, ek/;e esa] gok ,oa ek/;e ds varjki`"B (buVjQsl) ls 45° dk dks.k cukrs gq, izos'k

djrk gSA viorZu ds i'pkr] izdk'k fdj.k viuh okLrfod fn'kk ls 15° ds dks.k ij fo{ksfir gks tkrh gSA ek/;e dk

viorZukad gS %

(1) 1.732

(2) 1.333

(3) 1.414

(4) 2.732

Question ID : 1269450

Ans. Official Answer NTA (3)

Sol.

21. A tube of length 50 cm is filled completely with an incompressible liquid of mass 250 g and closed at both ends.

The tube is then rotated in horizontal plane about one of its ends with a uniform angular velocity x F  rad s–1.

If F be the force exerted by the liquid at the other end then the value of x will be ______________.
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,d 50 cm yEch uyh dks ,d 250 g nzO;eku ds vlEihM; nzo ls iw.kZr% Hkjk x;k ,oa mlds nksuksa fljs can dj fn,A

rRi'pkr] uyh dks mlds ,d fljs ds ifjr% x F  rad s–1 ds ,dleku dks.kh; osx ls {kSfrt lery ij ?kqek;k tkrk

gSA ;fn nzo }kjk nwljs fljs ij vkjksfir cy F gS rks x dk eku_____________gksxkA

Question ID : 1269451

Ans. Official Answer NTA (4)

Sol.

22. Nearly 10% of the power of a 110 W light bulb is converted to visible radiation. The change in average

intensities of visible radiation, at a distance of 1 m from the bulb to a distance of 5 m is a × 10–2 W/m2. The

value of ‘a’ will be ______________.

,d 110 W ds izdk'k cYc dh yxHkx 10% 'kfä n`'; fofdj.k esa ifjofrZr gksrh gSA cYc ls 1 m dh nwjh ls 5 m dh nwjh

rd n`'; fofdj.k dh vkSlr rhozrkvksa esa vk;k varj a × 10–2 W/m2 gSA ‘a’ dk eku_____________gksxkA

Question ID : 1269452

Ans. Official Answer NTA (84)

Sol.

23. A metal wire of length 0.5 m and cross-sectional area 10–4m2 has breaking stress 5 × 108 Nm–2. A block of 10

kg is attached at one end of the string and is rotating in a horizontal circle. The maximum linear velocity of block

will be ______________ ms–1.

,d 0.5 m yEckbZ ,oa 10–4m2 vuqizLFk dkV {ks=kQy ds /kkrq ds rkj dk Hkatd izfrcy 5 × 108 Nm–2 gSA rkj ds ,d fljs

ls ca/kk 10 kg dk xqVdk {kSfrt o`Ùk esa ?kwe jgk gSA xqVds dk js[kh; osx___________ ms–1 gSA

Question ID : 1269453

Ans. Official Answer NTA (50)

Sol.

24. The velocity of a small ball of mass 0.3 g and density 8 g/cc when dropped in a container filled with glycerine

becomes constant after some time. If the density of glycerine is 1.3 g/cc, then the value of viscous force acting

on the ball will be x × 10–4 N. The value of x is ______________. [use g = 10m/s2]

0.3 g nzO;eku ,oa 8 g/cc ?kuRo dh ,d NksVh xsan tc fxyljhu ls Hkjs ,d crZu esa fxjk;h tkrh gS rks dqN le; i'pkr

mldk osx fLFkj gks tkrk gSA ;fn fxyljhu dk ?kuRo 1.3 g/cc gS rks xasn ij yxus okyk ';kurk cy x × 10–4 N gksxkA

x dk eku____________gSA [;fn g = 10m/s2]

Question ID : 1269454

Ans. Official Answer NTA (25)

Sol.
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25. A modulating signal 2sin(6.28 × 106)t is added to the carrier signal 4sin(12.56 × 109)t for amplitude modulation.

The combined signal is passed through a non-linear square law device. The output is then passed through a

band pass filter. The bandwidth of the output signal of band pass filter will be  ______________  MHz.

vk;ke ekaMqyu ds fy, ,d ekaMqyd flXuy 2sin(6.28 × 106)t dks okgd flXuy 4sin(12.56 × 109)t ds lkFk fefJr

fd;k x;k A rRi'pkr] fefJr flXuy dks ,d vjSf[kd oxZ fu;e ;qfä ls xqtkjk tkrk gS] mlds ckn fuxZr flXuy dks

,d cSaM ikjd fQYVj ls xqtkjk tkrk gSA cSaM ikjd fQYVj ls fuxZr flXuy dh cSaM pkSMkbZ (ijkl) ___________  MHz

gksxh A

Question ID : 1269455

Ans. Official Answer NTA (2)

Sol.

26. The speed of a transverse wave passing through a string of length 50 cm and mass 10 g is 60 ms–1. The area of

cross-section of the wire is 2.0 mm2 and its Young’s modulus is 1.2 × 1011 Nm–2. The extension of he wire over

its natural length due to its tension will be x × 10–5 m. The value of x is ______________.

,d 50 cm yEch ,oa 10 g nzO;eku dh jLlh ij pyus okyh vuqizLFk rjax dh pky 60 ms–1 gSA rkj dk vuqizLFk {ks=kQy

2mm2 vkSj bldk ;ax xq.kkad 1.2 × 1011 Nm–2  gSA rU;rk ds dkj.k bldh okLrfod yEckbZ ls yEckbZ esa gqbZ o`f)

x × 10–5 m gSA x dk eku gS _____________A

Question ID : 1269456

Ans. Official Answer NTA (15)

Sol.

27. The metallic bob of simple pendulum has the relative density 5. The time period of this pendulum is 10s. If the

metallic bob is immersed in water, then the new time period becomes 5 xs . The value of x will be ______________.

,d ljy yksyd ds /kkfRod xksyd dk vkisf{kd ?kuRo 5 gSA bl yksyd dk vkorZ dky 10s gSA ;fn /kkfRod xksyd dks

ikuh esa Mqck;k tkrk gS] rks u;k vkorZ dky s5 x  gks tkrk gSA x dk eku____________gksxkA

Question ID : 1269457

Ans. Official Answer NTA (5)

Sol.

28. A 8 V Zener diode along with a series resistance R is connected across a 20 V supply (as shown in the figure).

If the maximum Zener current is 25 mA, then the minimum value of R will be ______________ .

,d  8 V dk thuj Mk;ksM ,d Js.kh Øe esaa yxs izfrjks/k ds lkFk 20 V ds fo|qr L=kksr ds fljksa ls tksM+k tkrk gS (fp=k esaa

n'kkZ;s vuqlkj) A ;fn thuj /kkjk dk vf/kdre eku 25 mA gS rks R dk U;wure eku_____________  gksxkA
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R
RL

20V

Question ID : 1269458

Ans. Official Answer NTA (480)

Sol.

29. Two radioactive materials A and B have decay constants 25 and 16 respectively. If initially they have the

same number of nuclei, then the ratio of the number of nuclei of B to that of A will be “e” after a time 
1

a
. The

value of a is ______________.

nks jsfM;kslfØ; inkFkksZa A vkSj B dk {k; fu;rkad Øe'k% 25 ,oa 16 gSA ;fn izkjEHk esaa nksuksa ds ukfHkdksa dh la[;k

leku gSa] rks 
1

a
le; i'pkr] B ds ukfHkdkas dh la[;k dk A  ds ukfHkdksa dh la[;k ls vuqikr "e" gksxkA a dk

eku_____________gSA

Question ID : 1269459

Ans. Official Answer NTA (9)

Sol.

30. A capacitor of capacitance 500 F is charged completely using a dc supply of 100 V. It is now connected to

an inductor of inductance 50 mH to form an LC circuit. The maximum current in LC circuit will be ______________

A.

,d 500 F /kkfjrk okys la/kkfj=k dks] fdlh 100 V okys fn"V /kkjk L=kksr ds }kjk iw.kZr% vkosf'kr fd;k tkrk gSA vc

bldks  50 mH izsjdRo ds izsjd ds lkFk LC ifjiFk cukus ds fy, tksM+k tkrk gSA LC ifjiFk esa /kkjk dk vf/kdre eku

______________ A gksxkA

Question ID : 1269460

Ans. Official Answer NTA (10)

Sol.


